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Vendange	
  Sélec,ve	
  
•  Collabora,on	
  avec	
  B.	
  Tisseyre	
  (SupAgro,	
  UMR	
  ITAP)	
  
Agriculture	
  de	
  précision	
  :	
  	
  

	
  prendre	
  en	
  compte	
  la	
  variabilité	
  intra-­‐parcellaire	
  
–  Photos	
  aériennes,	
  Capteurs,	
  Prélèvements,	
  …	
  
–  …	
  

 
 
 
 
 
 
 
 
 

 
 
 

è Prédic,on	
  de	
  la	
  qualité	
  et	
  du	
  rendement	
  



Vendange	
  sélec,ve	
  
F  Données:	
  

•  Un	
  champ	
  de	
  vigne	
  avec	
  deux	
  catégories	
  de	
  raisin	
  (A	
  et	
  B)	
  	
  
•  Une	
  machine	
  à	
  vendanger	
  à	
  deux	
  trémies	
  

Zone	
  A	
   Zone	
  B	
  



Vendange	
  sélec,ve	
  
F  Données:	
  

•  Un	
  champ	
  de	
  vigne	
  avec	
  deux	
  catégories	
  de	
  raisin	
  (A	
  et	
  B)	
  	
  
•  Une	
  machine	
  à	
  vendanger	
  à	
  deux	
  trémies	
  
•  Une	
  quan,té	
  Rmin	
  de	
  A-­‐grappes	
  à	
  récolter	
  

Rmin	
  

Zone	
  A	
   Zone	
  B	
  

A	
  
grappes	
  

B	
  
grappes	
  

B	
  



Vendange	
  sélec,ve	
  

F  Contraintes:	
  	
  	
  
•  capacité	
  des	
  trémies	
  
•  délai	
  de	
  Latence	
  

F  Données:	
  
•  Un	
  champ	
  de	
  vigne	
  avec	
  deux	
  catégories	
  de	
  raisin	
  (A-­‐grappes	
  et	
  B-­‐grappes)	
  	
  
•  Une	
  machine	
  à	
  vendanger	
  à	
  deux	
  trémies	
  (Cmax)	
  
•  Un	
  seuil	
  de	
  récolte	
  pour	
  les	
  A-­‐grappes	
  (Rmin)	
  

A-grappes B-grappes A-grappes B-grappes

trémie a :
trémie b :

A-grappes B-grappes A-grappes B-grappes

Latence

trémie a :
trémie b :

Latence Latence



Vendange	
  sélec,ve	
  

F  Contraintes:	
  	
  	
  
•  capacité	
  des	
  trémies	
  
•  délai	
  de	
  Latence	
  
•  rayon	
  de	
  braquage,	
  emplacement	
  de	
  la	
  benne…	
  

F  Données:	
  
•  Un	
  champ	
  de	
  vigne	
  avec	
  deux	
  catégories	
  de	
  raisin	
  (A-­‐grappes	
  et	
  B-­‐grappes)	
  	
  
•  Une	
  machine	
  à	
  vendanger	
  à	
  deux	
  trémies	
  (Cmax)	
  
•  Un	
  seuil	
  de	
  récolte	
  pour	
  les	
  A-­‐grappes	
  (Rmin)	
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Vendange	
  sélec,ve	
  

F But	
  :	
   	
  op,miser	
  parcours	
  des	
  rangs	
  	
  
	
   	
   	
  pour	
  minimiser	
  le	
  temps	
  de	
  vendange	
  	
  
	
   	
   	
  en	
  récoltant	
  au	
  moins	
  Rmin	
  A-­‐grappes.	
  	
  	
  	
  

F  Contraintes:	
  	
  	
  
•  capacité	
  des	
  trémies	
  
•  délai	
  de	
  Latence	
  
•  rayon	
  de	
  braquage,	
  vitesse,	
  emplacement	
  de	
  la	
  benne…	
  

F  Données:	
  
•  Un	
  champ	
  de	
  vigne	
  avec	
  deux	
  catégories	
  de	
  raisin	
  (A-­‐grappes	
  et	
  B-­‐grappes)	
  	
  
•  Une	
  machine	
  à	
  vendanger	
  à	
  deux	
  trémies	
  (Cmax)	
  
•  Un	
  seuil	
  de	
  récolte	
  pour	
  les	
  A-­‐grappes	
  (Rmin)	
  

Modèle	
  mixte	
  avec	
  contraintes	
  linéaires	
  
U

A
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B
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B
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no subtour(P0, . . . , Pn+��1)



Vendange	
  sélec,ve	
  -­‐	
  Résultats	
  

PLNE	
  :	
  rapide	
  sur	
  pe,tes	
  instances	
  mais	
  pb	
  passage	
  à	
  l’échelle	
  	
  

Prog.	
  Contraintes	
  :	
  solu,ons	
  intermédiaires	
  jusqu’à	
  l’op,mum	
  
	
  
	
  
	
  

to the bin

1 2 3 4 5

to the bin

1 2 3 4 5 6

Parcours	
  
calculé	
  

44	
  min	
  
6	
  emptying	
  

21	
  min	
  
5	
  emptying	
  

Parcours	
  
tradi,onnel	
  



Assemblage	
  de	
  vin	
  
Assemblage	
  =	
  mélange	
  de	
  plusieurs	
  cuvées	
  

	
  pour	
  concevoir	
  des	
  vins	
  cible	
  
•  quelle	
  propor,on	
  de	
  chaque	
  vin	
  de	
  base	
  dans	
  chaque	
  vin	
  cible	
  ?	
  



Assemblage	
  =	
  mélange	
  de	
  plusieurs	
  cuvées	
  
	
  pour	
  concevoir	
  des	
  vins	
  cible	
  

•  quelle	
  propor,on	
  de	
  chaque	
  vin	
  de	
  base	
  dans	
  chaque	
  vin	
  cible	
  ?	
  
•  Dégusta,ons	
  :	
  limitées	
  par	
  la	
  satura,on	
  du	
  palais	
  
•  méthodes	
  d'analyse	
  des	
  composés	
  aroma,ques	
  

Assemblage	
  de	
  vin	
  



Assemblage	
  de	
  vin	
  
F  Données:	
  

Un	
  ensemble	
  de	
  vins	
  de	
  base	
  décrits	
  par	
  
•  Volume	
  du	
  vin	
  disponible	
  
•  Concentra'on	
  en	
  arômes	
  de	
  ce	
  vin	
  

volb

cb,a
a

s−b



Assemblage	
  de	
  vin	
  
F  Données:	
  

Un	
  ensemble	
  de	
  vins	
  de	
  base	
  décrits	
  par	
  
•  Volume	
  du	
  vin	
  disponible	
  
•  Concentra,on	
  en	
  arômes	
  de	
  ce	
  vin	
  
Un	
  ensemble	
  de	
  vins	
  cibles	
  
•  Volume	
  souhaité,	
  min	
  et	
  max	
  admissible	
  
•  Concentra,on	
  souhaité	
  en	
  arômes	
  

w

vol+w

vol−w

c+w,aa
ĉw,a
c−w,aVw

v̂olw



Assemblage	
  de	
  vin	
  
F  Données:	
  

Un	
  ensemble	
  de	
  vins	
  de	
  base	
  décrits	
  par	
  
•  Volume	
  du	
  vin	
  disponible	
  
•  Concentra,on	
  en	
  arômes	
  de	
  ce	
  vin	
  
Un	
  ensemble	
  de	
  vins	
  cibles	
  
•  Volume	
  souhaité,	
  min	
  et	
  max	
  admissible	
  
•  Concentra,on	
  souhaité	
  en	
  arômes	
  

F Ques'on	
  :	
  	
  	
  
Déterminer	
  volumes	
  Vw,b	
  à	
  transférer	
  pour	
  minimiser	
  écart	
  
avec	
  volumes	
  et	
  concentra,ons	
  souhaités	
  

F Contraintes	
  
Linéaires	
  :	
  	
  

Non	
  Linéaires,	
  non	
  convexes,	
  …	
  :	
  	
  
•  Volume	
  minimal	
  transférable,	
  …	
  

Vw =
BX

b=1

Vw,b c�w,a  1

Vw

BX

b=1

(Vw,b . cb,a)  c+w,a

(Vw,b = 0) _ (�V  Vw,b)



Assemblage	
  de	
  vin	
  -­‐	
  Résultats	
  
•  Résolu,on	
  efficace	
  d’instances	
  réelles	
  

avec	
  solvers	
  à	
  intervalles	
  :	
  Couenne	
  et	
  	
  Ibex	
  	
  
•  Autres	
  contraintes	
  non	
  linéaires	
  à	
  intégrer	
  
•  Confirma,on	
  expérimentale	
  

•  Vers	
  un	
  configurateur	
  au	
  service	
  des	
  œnologues	
  

=

NCSP

blind
tasting

Instance

target wine

resulting wine


